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HS FH TR BE#CED FEIR FIEHCE2) B FE EHES
5937  [10f% i IR HY (BETEAEW) 2A7H - L
5938  |20f% 7% BA (BREREAERN) HY (BETIEAEW) 2A4H HY (B#536) E=yan |
5939  |20f% pogis BA (BREREAERN) HY (BETIEAEW) 2A4H HY (BH536) E=zan=]
5940  |20f% 7% BA (BRERERAEN) HY (BETIEAEW) 2A4H HY (B#536) 25
5941  [20f% 7 B4 (BRREFAEN) HY (BETIEAEW) 2B4H8 »HY (Bi1536) E=gan-"|
5942 201% 7 BA (BRRBEAEN) HY (EETIEHRL) 2A58 HY) (B%36) Evan=|
5943  [50f% S BRREFTEN HY (BETIEAEW) 2HA3H - frgan=|
5944 |304% S BRREFAEA HY (EETIEHRL) 2A3H HY E=yan—|
5945  |304% peqcd SR RERRE N HY (FEETEARL) 248 HY) #L
5946  |601% peqs BRREFTEN HY (BETEEWL) 2A4H HY) Egan=|
5947  |10f% i BRRBEERN HY (BIETIEAEW) 2H6H HY T L
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HS FH TR BE#CED FEIR FIEHCE2) B FIE EHES
5948 |10k %k BRREFTEN AR 2AT7H HY L
5949  |30f% B Eaeliil HY (BFETIEAEL) 2A5H HY (HE - REMERKRILD Eeyan-|
5950  [30f% pedts &y HY (BEETIHAW) 2B6H HY HE - REMBXLLD 7=k
5951 601% St ER™ AR 2B7H HY) E=yan—|
5952  [30f% B BRREFTERN HY (BETIEAEW) 2A5H HY (FK22) SifzN3=]
5953  |70f% peqis BRREEN HY (BIETIEEW) 2R7H HY (FK22) BEX
5954  |70f% 7 BRREFTERN HY (BETIEAEW) 2A5H HY (FK22) 7w L
5955  [40f% peqis BRREFAEA HY (EETIEHRL) 2R7H HY) (FR22) SifzN=3=]
5956  [20f% S5 IR HY (BETIEAEW) 2H6H - E=yan=|
5957  [50f% pedcs EFH HY (EETIREWL) 2R6H - S48
5958  [30f% i BRREFRERN AR 2B7H - =8
5959  [20f% ColS IR HY (EETIRERL) 2R 7H - N3]
5960  [80f% podcs S|l HY (EETIRAEWL) 2B 1H HY #L
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HS F4 el BEE#CELD) AEIR FAEH (E2) 23 Bz
5961  [401% S5 HEMREFTEN HY (BETIEAEW) 2R78 »HY BilzN::4=]
5962  |30f% 7k hERREFTE RN HY (BETIEAEL) 2H6H »HY mL
5963 104€ S5 Lsm HY (BETIEAEW) 2H68 HY (FER27) wL
5964  |20f% 7k el =) HY (BETIEAEL) 2H6H - E=an|
5965  |20f% 5S4 bt HY (BETIEAEW) 2A58 »HY Eagan=|
5966  |50f% 7k el =) HY (BETIEAEL) 2H38 oY mL
5967  |60f% S5 hERREFTERN HY (BETIEAEW) 2H5H &Y mL
5968  |90m ML (%% hEREFTEN HY (BETIEEW) 2HTH - mL
5969 10mFom |51 L& HY (BETIEAEW) 2H8H - mL
5970 10% S PEREFTEN HY (BETEEW) 2H8H HY (F829) mL
5971  |60f% S5 kLt HY (BETIEAEW) 2RTH - Eyan=|
5972 501K S PEMREFTEN HY (BETEAEW) 2H68 - SHE
5973  |50f% s hEREFTER HY (BETIEAEW) 2H6H - Egan=|
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HS F4 el BEE#CELD) AEIR FAEH (E2) 23 Bz
5974 104€ 7k HEMREFTEN HY (BETIEAEW) 2R78 HY (F829) L
5975  |20f% S5 hERREFTE RN HY (BETIEAEW) 2R48 - Ean|
5976 104€ S5 HEMREFTEN HY (BETIEAEW) 2HA58 HY (FR29) L
5977 106X S LEm HY (BETIEAEL) 2H58 oY mL
5978 104K 7 hERREFERN HY (BETIEAEW) 2R48 HY (Fr25) mL
5979 10K | &t FHERRIEFTE N HY (BETIEAEL) 2H6H - mL
5980  |60f% S5 hERREFTERN HY (BETIEAEW) 2H68 - Eagan=|
5981 201K 7k 2=l HY (BETEEW) 2A6H &) E=gan=|
5982  |20f% Eegcd hERREFTEN HY (BETIEAEW) 2A58 - BN
5983 (301X 7k L&Em HY (BETEEW) 2HTH - E=an-|
5984 10K | & el =) HY (BETIEAEW) 2H6H - mL
5985 201K S EEm HY (BETEEWL) 2A68 - 7wl
5986 10K | &t L& HY (BETIEAEW) 2H6H HY (FER27) mL
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HS FH TR BE#CED FEIR FIEHCE2) B FIE EHES
5987 |50t pegs HERERIERTE HY (BETIEEW) 2A6H - SifzN3=]
5988  |10f% B FERRIEFTE RN HY (BETIEAEW) 2A8H HY (F1K29) mL
5989  [60f% geqi3 T HY (BEETEARL) 2A5H HY Bl
5990  [40f% pegis &M HY (BIETIEAEW) 2B7H HY E=yan—|
5991 101% 7 t&Em HY (BETIEAEW) 2B4H8 HY 7w L
5992 401K peqis &M HY (BIETIEEW) 2A6H HY E=yan—|
5993  [10f% 7 BNREFTE AN HY (BETIEAEW) 2H6H HY 7w L
5994  |404% Bk BN HY (BEEETEARW) 2R6H HY (SEEHEES) SHE
5995  [40f% S BNREFTE AN HY (BETIEAEW) 2H4H - frgan=|
5996  |70#% geqid BN HY (BEEETEARW) 2A28 - Sifzy:7=1
5997  |10#% pogcs B HY (FFETEARL) 2A5H - #L
5998 40X peqs BNREPTEN HY (EETIEHRL) 2A6H - L
5999 |10t B BNREFTE N HY (BFETIEARL) 2R6H - L
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HS FH TR BE#CED FEIR FIEHCE2) B FIE EHES
6000  [50f% goq3 B HY (EETIRAEL) 2R7H HY v
6001  |20f% geqcd BUNREATE X HY (BETIEAW) 2R58 HY) SHE
6002  [60f% Bt B HY (EETIRAEL) 2RA6H HY v
6003  |[50f% pegis —Bm HY (BIETIEAEW) 2R48 - SifzN:=3=]
6004  |60f% B —E™ HY (BETIEAEW) 2A5H - Ergan=|
6005 401K peqis —Bm HY (BIETIEEW) 2B7H - E=yan—|
6006  [50f% 7 —BEREAEN HY (BETIEAEW) 2A5H HY (SEEMERS) SifzN3=]
6007  |50f% peqis —Bm HY (EETIEHRL) 2R7H HY) (SinEMEES) SifzN=3=]
6008  |10f% i —B3 HY (BETEAEW) 2A6H HY (SkEERS) ileN:d=]
6009  |40f% 7 —BEREMEA HY (EETIEHRL) 2RT7H - e NS
6010  |10mEskid |t —Egh HY (FFETEARL) 2R6H - #L
6011  |[80f% St —BEREMEA HY (BETEEWL) 2A8H HY L
6012  [80f% eqca —BIRBEFEN HY (BEETIEAW) 2A3H »Y #L
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HS F4 el BEE#CELD) AEIR FAEH (E2) 23 Bz
6013 |40f% 7k —Bh HY (BETIEAEW) 2H38 HY (BH37) WN—h A< —
6014 404K, 7t —B™ HY (BIETIEAEW) 2R2H HY (BH37) N—h2Af<—
6015  |70f% 7k —BREFTEN HY (BETIEAEW) 2HA58 HY (BH37) wL

6016  [201% 7k —Bi HY (BETIEAEL) 2H6H HY (BIH37) NIE

6017  |40f% 7 —BIH HY (BETIEAEW) 2A38 HY (BH37) N—hZA<—
6018 401K 7k —B™ HY (BETIEAEW) 2RATH HY (BH37) N—h&Af~—
6019 10mRim | S —Bh HY (BETIEAEW) 2RA7H - 7wl

6020 104% S —B™ HY (BETEEW) 2RATH - L

6021 100w (&% —B HY (BETIEAEW) 1A30H HY (BB - REMERLI) mL

6022 10m K (B —B™ HY (BETEEW) 2A80H - L

6023 |30t s B4 (—BERERERN) HY (BETIEAEW) 2H6H HY (SkHEERS) BileN:id s

6024  |40f% 7k RARE T EAER 2H8H »HY BN

6025  |80f% 54 RAREREFTE N EAER 2H8H »HY mL
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HS FH TR BE#CED FEIR FIEHCE2) B FIE EHES
6026 101/% CEs AARE RER 2A8H HY 7w L
6027 |60t 7% KARE T HY (BETIEAW) 2A6H HY (B34 E=yan |
6028  [40f% pegs KT HY (BETIEAEW) 2AT7H HY (534 Ergan=|
6029  |40f% 7% KAET HY (BETIEAEW) 2A6H HY (B34 25
6030  [40f% g K™ HY (BETIEAEW) 2B7H HY (534 E=gan-"|
6031  |20f% 7% KAET HY (BETIEAEW) 2A6H HY (B34 25
6032  [20f% g K™ HY (BETIEAEW) 2H6H HY (534 E=gan-"|
6033 [30f% geqid AAE HY (BEEETEARW) 2R68 »Y (8534 SHE
6034  [20f% S =hh HY (BIETIEAL) 2H6H - frgan=|
6035  [50f% geqid = HY) (BETIEAW) 2A58 - N3
6036  [104% eqcd = HY (BEETIEAW) 2R7H - #L
6037  |40f% St BHREFEA HY (BIETIEAW) 2A5H - Egan=|
6038  |20f% S =hmh HY(BIETIEAW) 2A6H - Ergan=|
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HS F4 el BEE#CELD) AEIR FAEH (E2) 23 Bz
6039 104€ S5 =EHREREN HY(BETIEAL) 2H68 HY (Fr14) L
6040  |30f% 7k ARREFTIEN HY (BETIEAEW) 2H3H8 - Ean|
6041 104€ 7k ARREFTEN HY (BETIEAEW) 2H68 - L
6042 10K | &t ARREFTEA HY (BETIEAEL) 2H6H - mL
6043 10K | B ABRBEFTEN HY (BETIEAEW) 2H68 - mL
6044 (201X S ARREFTEA HY (BETIEAEL) 2RTH - E=an|
6045  |40f% S5 AT HY (BETIEAEW) 2R78 - NBE
6046  |30f% S5 ARREFTEA EAER 2H8H &Y E=an-|
6047 104K S ABREFTEN HY (BETIEAEW) 2A58 &Y mL
6048  |60f% S ARREFTEA HY (BETEEW) 2RTH HY E=an-|
6049  |50f% s ARREFTEN HY (BETIEAEW) 2H8H »HY Eyan=|
6050  |60f% S ARREFFEA HY (BETIEEW) 2H58 »HY SHE
6051 104K S5 —FREFFEN HY (BETIEAEW) 2H6H »HY mL
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BS FMR el BE#CELD) AEIR FERER (2) e EES

6052 0mUL |t HY (BETEAEW) 2H8H HY (SEHEBRT) mL
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